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BC_JIA BC_JIB BC_J2A BC_J2B BC_JBA BC_J3B
TCK 1 12V 2 +12V 1] PORN 2] 1 GND 2
GND 3 TNTAR 7 ™S 3] TDO 7] GND 3 CBE7 Z
INTBN 5 NTCn 6 TDI 5| GND 6] CBEG 5 CBES 5
7 VCC 8 GND 7] B CBEA 7 GND B
INTDn 9 10| 9 10 V 10 9 PARGA 0
GND 1 12 11 VDD 2] AD63 1 AD62 2
CL 3 GND 4 RSTn 13 14 AD6L 3 GND 7]
GND 5 GNTn 6 VDD 15 | 16 GND 5 AD60 6
REQN 17 VCC 8 17 GND 18 | AD59 7 AD58 18
V_10 19 AD3L 20 AD30 9] AD29 20 AD57 9] GND 20
AD28 21 AD27 22 GND 21 ADZ6 22 V_ 10 21 AD56 22
ADZ5 23 GND 24 AD24 23 | VDD 24 AD55 23 AD54 24
GND 25 CBE3 26 C_IDSEL 25 AD23 26 AD53 25 GND 26
AD22 27 AD2ZL 28 VDD 27 AD20 28 GND 27 AD52 28
ADI9 29 VCC 30 ADI18 29 GND 30 ADSL 29 AD50 30
V_10 3L ADL7 32 AD16 3L CBEZ 2 AD49 31 GND 2
FRAMEN 3 GND 34 GND 3 34| GND 33 AD48 34
GND 35 TRDYN 36 TRDYnN 35 VDD 36 AD47 35 AD46 36
DEVSELN 37 VCC 38 GND 37] STOPn 38 AD45 37] GND 38
GND 39 LOCKn 40 PERRN 39 GND 0 | V_10 39 AD44 0 |
41| &2 VDD a1 SERRN 2 ADA3 a1 ADA2 2
PAR 43 GND a4 CBEL 43 GND 44 ADAL 43 GND 44
V_10 45 AD15 6 AD14 45 AD13 3 GND 15 AD40 3
ADIZ 47 ADILL 18 GND 47 ADI0 13 AD39 a7 AD38 13
AD9 49 VCC 50 AD8 49 VDD 50 AD37 29 GND 50
GND 51 CBEO 52 AD7 51 52 GND 51 AD36 52
AD6 53 AD5 54 VDD 53 54 AD35 53 AD34 54
AD4 55 GND 56 55 GND 56 AD33 55 | GND 56
V_10 57 AD3 58 | 57 58 V_10 57 AD32 58 |
AD2 59 ADL 60 GND 59 60 59 60
ADO 61 VCC 62 ACK64n 61 ] VDD 62 61 GND 62
GND 63 REQ64n 64 GND 63 64 GND 63 64
CMC64J CMC64) CMC64J CMC64) CMC64) CMC64J
BC_JMA BC_JMB R TCK T AD[63.0
MSGO 1 2 DI CBE[7.0]
== 3 — DI CBE[7.0]
G2 5 GND 6 ™S REQ64n
= = 5 [TMs —— >————
GND 9 10 TDO ACK64n
o . —= TDO (ACKBan _ »—H=t
G5 3 14 Alle) PARG4
=5 5 =T [vio — >—— (PARBA  ——>——
MSG? 7] 8
GND 19 20 CTLO
CMDO 21| 22 € > AT PAR
CMD1 23 24 o CTL1
CMD2 25 SPARED 26 +12V +12V N ST STOPn
CMD3 27 GND 28 R PORN Cstom
GND 29 SPAREL 30 v TRDYn
STRB 3L GND 32 oy -12v GPIO CIRDYn
STAO 3 SPAREZ 34 CeAo > o IRDYn
STAL 35 GND 36 SPAREEND SPARE[5.0 (IRDYn >
STAZ2 37 SPARES 38 2 EAER FRAMER
GND 39 GND 40 VST MSGI[7.0 (FRAMEN
STA3 a1 SPAREA a2 2 BEVEEIT DEVSELn
STA4 43 GND a4 S0 MD[3.0 (DEVSELD  ———
STAS 45 SPARES 6 A = LOCKn
STA6 47 GND 18 STATONG STA[Q.0) CLockn
oD 2 ey 2 - CPeRRn  —PERRDL
STA7 51 GND 52 =T RSV[1.0
STA8 53 CTLL 54 = SERRn
STA9 55 GND 56 STRE STRB CSERRn
RSVO 57 GPIO 58 | TREAT INTAR
GND 59 GND 60 CintAn 1}
RSVL 61 PORN 62 INTBn
3 GND 4] CINTBn 1}
(INTCn  pINTCn
CMC64J CMC64) INTDn
(INTDR — ———
Vv 10 R9 51K REOn TN
REQN
|DSEL R153 1K ¢ |DSEL
GNTn
VDD vee [GNTn — >——"—
CLK CLK
[ipseL  —DSEL
+C17 +C18 RSTh
47.00F 47.00F [RSTn  >—————
GND
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